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QUESTION 1

When verbose Garbage Collection is enabled, in which file(s) does the operating system collect the data?
A. trace.log

B. activity.log

C. SystemOut.log and SystemErr.log

D. native_stdout.log and native_stderr.log

Correct Answer: D

Depending on the operating system in use, the verboseGC output will be written to the following file by default: AlX,
Linux, or Windows: native_stderr.log Solaris or HP-UX native_stdout.log

Reference: http://www-01.ibm.com/support/docview.wss?uid=swg21114927

QUESTION 2

Which of the following is required for Secure Sockets Layer (SSL) enablement within an HTTP server?

A. AJDK

B. A valid, issued certificate

C. IPv6 (Internet Protocol Version 6)

D. Updating the https.conf file and not the httpd.conf file

Correct Answer: B

The iKeyman GUI, which is included within the IBM HTTP Server distribution, can be used to create a key database file
(for example: key.kdb) needed to store personal server certificates required by the client browser during an SSL
handshake.

Incorrect Answers:

D: Enable SSL directives within the IBM HTTP Server\\'s configuration file (httpd.conf)

Reference: https://www-01.ibm.com/support/docview.wss?uid=swg21179559%#step3

QUESTION 3

When installing applications to IBM WebSphere Application Server, what is one important difference between RAR files
and SAR, WAR, EAR, and JAR files?

A. They contain no Java code.

B. They are deployed to the web server.
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C. They can be installed at different scopes.
D. They use a different compression protocol.

Correct Answer: B

QUESTION 4

Which of the following is true about certificate expiration monitoring?

A. Must be run manually.

B. Must be run on the deployment manager.

C. Deletes the certificates after they are expired, but does not replace them.

D. Can replace expired certificates or certificates in the expiration threshold with a new certificate

Correct Answer: D

Certificate monitor configuration settings can be configured on the administrative console by selecting Security > SSL
certificate and key management > Manage certificate expiration. . On the Manage certificate expiration panel, you can
perform the following functions. Set the expiration threshold in the box labeled Expiration replacement threshold. The
expiration replacement threshold is the number of days before a certificate expiration that a certificate can be replaced
and has a default value of 60 days. Delete the certificates after they are replaced by selecting the Delete expiring

certificates and signers after replacement box. This box is selected by default. Etc.

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_7.0.0/com.ibm.websphere.nd.doc/
info/ae/ae/csec_sslcertmonitoring.html

QUESTION 5

An administrator notices performance degradation after a new deployment of an application. After investigation,
increased CPU usage is observed due to frequent GC cycles. However, there is no significant growth in the heap
memory.

How can the resource consumption issue be resolved?

A. Increase max heap.

B. Increase perm space.

C. Increase nursery size.

D. Change the GC policy.

Correct Answer: D
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